1. TITAN I FOLDING IMPACT PROTECTIVE SYSTEM SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFED FOR
COMPIIANCE IN ACCORDANCE WITH THE 2014 EDITION OF THE FLORIDA BUILDING CODE. THIS FOLDING IMPACT PROTECTIVE SYSTEM
MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES (HVHZ) AND OUT OF THEM (MHVHZ).

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTIONS 1620 (HVHZ) & 1608 (NHVHZ) OF THE ABOVE MENTIONED CODE,
FOR A BASIC WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE THIS PRODUCT TO BE INSTALLED FOR A DIRECTIONALITY FACTOR
Kd=0.85, USING ASCE 7—10 AND SHALL NOT EXCEED THE MAXIMUM A.S.D. DESIGN PRESSURE RATING INIICATED ON SHEET 13.

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESING WIND LOADS DETERMINED PER ASCE 7-10 SHALL BE FIRST

REDUCED TO AS.D. DESIGN WIND 10ADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO COMPARE THESE W/ MAX. {AS.D.)
DESIGN PRESSURE RATINGS INDICATED ON SHEET 13.

IN ORDER TO VERIFY THAT COMPONENTS & ANCHORS ON THIS P.E.D., AS TESTED, WERE NOT OVERSTRESSED, A 33 % INCREASE IN

ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR €D = 1.60 WAS USED FOR VERIFICATION

OF FASTENERS IN WOOD.

FOLDING IMPACT PROTECTIVE SYSTEM ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH
SECTIONS 1626 & 1609.1.2 OF THE ABOVE MENTIONED CODE AS PER TESTING PERFORMED AT HURRICANE ENGINEERING TESTING, iNC.
(H.E.T.L), HURRICANE TESTING 1LABORATORY (H.T.L.) & AMERICAN TESTING LAB OF SQUTH FLORIDA AS PER PROTOCOLS TAS--201,
TAS—202 AND TAS—203, AND AS FER SUBMITTED STRUCTURAL CALCULATIONS, PERFORMED AS PER SECTION 1816 & 1604 OF THE
FLORIDA BUILDING CODE.

2. STAINLESS STEEL SHEET METAL SCREWS USED AT SLATS (D & (A SHALL BE # 10 x 3", 410—HT MINIMUM SERIES W/ 173.6 ksi YIELD
STRENGTH & 1B7.4 ksi TENSILE STRENGTH. SCREWS SHALL BE COATED WITH XYLAN 5000 SERIES FLUOROPOLYMER COATING, AS
MANUFACTURED BY WHITFORD Co, BOX 307. WEST CHESTER PA. 19381.

3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION ALLOY AND TEMPER AS INDICATED ON SHEET 2. MINIMUM YIELD STRENGTH

FOR 6063-T6 ALLOY AT SLATS SHALL BE Fy=25.9 ksi.

4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 SERIES W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH OR
CORROSION RESISTANT COATED CARBON STEEL ITW/BUILDEX TEK SCREWS AND SHALL COMPLY W/ FLORIDA BUILDING CODE SECTION
2411.3.3.4. ALL ALUMINUM POP RWETS TO BE 5052 ALUMINUM ALLOY WITH ALUMINUM MANDREL.

5. BOLTS TO BE ASTM A—307 GALVANIZED STEEL, OR AIS| 304 OR 316 SERIES STAINLESS STEEL WITH 35 ksi MINIMUM YIELD STRENGTH.

6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

{(A) TO EXISTING POURED CONCRETE:

1/4" ¢ x 3/4" SOUD SET, AS DISTRIBUTED BY ALL POINT SOUD SET ANCHORS TO MIN. f'e=3000 psi.
1/4" ¢ CRETE~FLEX, AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS TO MIN. £c=3350 psi.

NOTES:

At} MINIMUM EMBEDMENT OF 1/4” ¢ TAPCON ANCHORS OR 1/4" @ CRETE-FLEX INTO CONCRETE IS 1 3/4%.
MINIMUM EDGE DISTANCE (E.D.) SHALL BE AS PER SHEET 13.

1/4" 9 TAPCON W/ ADVANCED THREADFORM TECHNOLOGY, AS MANUFACTURED BY |.T.W. BUILDEX, INC. TO MIN. fe=3192 psi

{C) TO EXISTING WOOD FRAME BUILDING: G=0.46 MIN.

- 1/4" @ TAPCON W/ ADVANCED THREADFORM TECHNOLOGY, OR 1/4" ¢ CRETE—FLEX, AS MANUFACTURED BY ITw/BUILDEX,
INC & ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY, OR # 14 NDS WOOD SCREWS OR 1/4" ¢ NDS LAG SCREWS.

NOTES:

C.1) MINIMUM THREADED PENETRATION OF 1/4” ¢ TAPCON OR 1/4" » CRETE-FLEX OR #14 NDS WOOD SCREWS OR
1/4” © NDS LAG SCREWS INTO THE WOOD FRAME UNIT SHALL BE 1 1/2" FOR Ct THRU C4 AND C6 THRU C8B
CONNECTION TYPE, AND 2" FOR C5, OR AS INDICATED ON WOOD SECTIONS ON SHEETS 10 THRU 12. NO THREADED
PENETRATION INTO WALL FINISH SHALL. BE CONSIDERED AS PART OF THE REQUHRED THREADED PENETRATION.

MINIMUM EDGE DISTANCE OF 1/4” ¢ TAPCON OR 1/4" ¢ CRETE-FLEX OR #14 NDS WCOD SCREWS OR 1/4"# NDS
LAC SCREWS INTO WOOD SHALL BE AS SHOWN ON SHEETS 10 THRU 12.

c.2)

IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE FOUND ON THE EXISTING
WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN SUBSTRATE BEHIND SUCH PANELS.
MINIMUM THREADED PENETRATION SHALL BE AS INDICATED ON NOTE C.1 ABOVE.

€.3)

(D) TO EXISTING STEEL STRUCTURE: MIN. 12 GAGE, FY=33 KSt {MIN.} MATERIAL.

~1/4" 8 |TW BUILDEX TEK SCREWS, W/ FULL THREAD PENETRATION.
NOTES:
D.1) MINIMUM EDGE DISTAMCE OF W BUILDEX TEK SCREW 1%

7. ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR
MANUFACTURER.

8. [T SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE PRODUCT 1S
TQO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR
WOOD FRAME BUILDINGS,

9. EACH UNIT MUST BEAR PERMANENT LABEL IN A VISIBLE PLACE WITH WARNING NOTE: DURING PERIODS OF HURRICANE
WARNINGS HOME OWNER, TENANT, OR OTHERS, MUST PROPERLY CLOSE ALL CENTERPIECES AND ENGAGE OR LOCK ALL
LOCKS.

PRODUCT MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT PRODUCT IN ACCORDANCE
WITH SECTION 1710.8.3 OF THE FLORIDA BUILDING CODE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
LABELING TO COMPLY WITH SECTION 1710.8.2 OF THE FLORIDA BUILDING CODE.

10.

FOLDING IMPACT PROTECTIVE SYSTEM'S INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY
BUILDING AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

11.

{A) THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) PREPARED BY THIS ENGINEER 1S GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

12,

A.2) 3/4” SOLID SET ANCHORS SHALL BE ENTIRELY EMBEDDED (7/8") INTO THE POURED CONCRETE. (B) CONTRACTOR TQ BE RESPONSIBLE FOR THE SELéCﬂON, PURCHASE AND INSTALLATION INCLUDING UFE SAFETY OF THIS
: - . PRODUCT BASED ON THIS PRODUCT EVALUATION DOCUMENT PROVIDED HE/SHE DOES NOT DEVIATE FROM THE
NO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4 #-20 S.S SCREWS USED SHALL BE 1 1/2 . ,
LONG MINIMUM SHOULD STUCCO EXIST. CONDITIONS DETALLED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.
A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING (C) THIS PRODUCT EVALUATION DOCUMENT WILL BE CONSIDERED INVALID IF MODIFIED.
ANGHORAGE "SHALL %REsAgH?ril'BlciETE’BO%?q NOTES A1 & Eﬁﬁ%HA-égSEWN STRUCTURE. BEHIND SUCH PANELS. (D) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL
BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER
(B) TO EXISTING CONCRETE BLOCK WALL: ASTM C—90. USE OF THE P.ED. ENGINEER OF RECORD, ACTING AS DELEGATED ENGINEER TO THE P.ED. ENGINEER, SHALL SUBMIT
: TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.
~ 1/4" @ TAPCON W/ ADVANCED THREADFORM TECHNOLOGY, AS MANUFACTURED BY I.T.W. BUILDEX, INC. _ ~
" 178" 6 x 374" SOUD SET, AS DISTRIBUTED BY ALL POINT SOLID SET ANCHORS. (E) THS AIT_\;E’.)D.ITSHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER THAT
— 1/4” ® CRETE—FLEX, AS MANUFACTURED BY ELCO CONSTRUCTION PRODUCTS. :
NOTES: THIS DRAWING SHALL ONLY BE USED TO OBTAIN
B.1) MINIMUM EMBEDMENT OF 1/4"8 TAPCON ANCHORS OR 1/4” @ CRETE—FLEX INTO CONCRETE BLOCK UNIT IS 1 1/47. : PERMITS IN THE STATE OF FLORIDA
MINIMUM EDGE DISTANCE (E.D.) SHALL BE AS PER SHEET 13. gt
% LTy, . . . .
B.2) 5/425‘%&? SET ANCHORS SHALL E::E PEN}:JI?%LY EM?EDDED (7/87) INTO THES%ODNCRETE BLOCK 3NlT' NO 1§§\f\(’—\?‘......f2[ s 1 FLORIDA BUILDING CODE (High & Non High Velocity Hurricane Zone)
MB INTO STUCCO SHALL BE PERMITTED. 1/4” #-20 S.5 SCREWS USED SHALL BE 1 1/2” LONG RN R © 2015 TLTECO MC. - PRy
MINIMUM SHOULD STUCCO EXIST AND 1” MINIMUM FOR WALLS WITH NO STUCCO. F \-\GEN(SLC 23 TITAN If FOLDING IMPACT PROTECTIVE SYSTEM] "l 0,
B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, S C ARy = 03/10/15
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE = % S z ILIECO inc. FOLDING SHUTTER CORP. DATE
SHALL BE AS INDICATED ON NOTES B.1 & B.2 ABOVE. = ' 3 - FOBY HEMSTREET PLACE
- . = T G & ENGINEERING COMPANY
Wl Ll AR R VST P I, S 15-014
‘%C%\.“(:! :‘iz B %D‘&“ . ~'<§(§f § ot (e—l?nqit: tilte:':ogaél.com www.foldingghutters.com DRAWING No
%, '3;?{‘:';“ e o WALTER A UL dr. P.E. REY. Mo DESCRTION DATE | REV. b OESCRIFTION e
*’&,& ﬁagggw s«%‘&ﬁ‘ﬁ‘ ATE FLORIDA Lic, # 44167 1 woiiow  |w/tons| 3 SHEET 1 OF 13
{"”du. TN . 2 . 4

TEFEALNERT




3.860"
(=) ‘?O
o, . :1,(5' ;g SN
= r 2.
- ) 4.365"
@) SLAT

6063-T6 ALLOY

(TO BE USED FOR ALL INSTALLATIONS,

MAY INCLUDE PERFORATIONS AS PER
DETAIL ON SHEET 3)

W~ SHEET 3.)
0837 B3T” 4.715"
1.964" 2 748"
% B 120t |- " .
8 [ - 1,887
ogz=-ji— T s rg0mm] 2
b { b 128" 2 -
T A | & S = X
8 l""% 062 =] j-—09af IE! T i : t
A S L3 3 T T rY L
! b ] " o5 &
W‘ﬁ 4 8 1.967" 095 o 2
. ! ] o
06—~ ¢ . % Max) } i
4 i
> 9 !!] K}
m
~N
\/< 37157 2.673" i 2
o,

@) WALL HEADER

6063—T5 ALLOY

@ SLAT WINDOW

6063-T6 ALLOY
(TO BE USED ONLY FOR INSTALLATIONS
30 FEET OR HIGHER ABOVE GRADE
MEASURED AT BOTTOM OF OPENING
SEE COMPONENTS 20, 21 & 22 ON

2500

@ 2° MAX. B.O.

SILL/HEAD TRACK

6063716 ALLOY

2.898"
£ - .4 -
ny — | .093 50—
3] r
¥ LS
L] -
iy o8t - a3
g °
; 065" —={{=— L
!
4,446

35607

5007

080

DB2

1.004"

.062'&'--
.

9;,?-

@ L—END

B063-T5 ALLOY

o

1616
.9\

622"

@ FLAT END

606315 ALLOY

2.132"
5937

20127

120"

I——r. 153" —w

280"

[~-062"

.080™

@1 ALT. BOTTOM TRACK ADAPTER ({2 BOTTOM RAIN GUARD

6063—T6 ALLOY

J75°8

15 3/8°s—16 ACETAL

B063—T6 ALLOY

[ 1%

560"

0627

18 LOCKING TUBES
AT _CENTERPIECE

6063—T6 ALLOY
MIN. 28 1/2” LONG

THUMBSCREWS
FOR (4) & (b

CEILING HEADER

B063—T5 ALLOY

~t2

1.625"

@ INTERIOR CENTERPIECE

-

152

3.000"

875"
y
oy
2 S
o
3 062" o 1 444"~
o
& -
_ oy w
o 062t| B8 2
688" .
1.938
2.750"

2.941°
{ I 3 1.938
z 0627 P
5 % ‘I 8
o 8 A :
T i oF x
A et
] L JL. - o
o 1.250"—
£ 588
2. 750"

®) EXTERIOR CENTERPIECE

6063--T6 ALLOY

606316 ALLOY

1,124" =]

@ BOTTOM SILL TRACK

606376 ALLOY

2.696™
in 093* 50
—ef f— oy | -
S
N . %
be] 081"l
g .
_067" —t 1
2,716

BOTTOM TRACK ADAPTER

E063—T6 ALLOY

- |—0. 725"

2.000"

2.0007

19 CORNER POST

E063~T6 ALLOY

COMPONEN IS

COMPONENT a b t1 t2
3.328"
@ 2% 5" MAX.| 0.125" | 0.1257
{ n 4" MAX o 25n 0‘25» .(Q‘\l .\gr‘\—% ®
i S A B L 3
@ 17 |27 max.| 0.062” | 0.062" g

ALUMINUM ANGLES

VR

\\\\ ﬂ Q\ Tt I‘;-.!"’f;

2

RAIN HOOD

6063—T5 ALLOY

FLORIDA BUILDING CODE (High & MNon High Velocity Hurricane Zone)

......
-' ’o

6063-T6 ALLOY

® 2015 ALTECO INC.

/ TiLIECO me \

THLIT TESTING & ENGINEERING COMPANY
6355 NW. 36th, St. Ste. 305, VIRGINIA GARDENS, Fi. 33166
Prone : (305)871— 4530 . Fax : {305)871—-1531
e—mail: hlteco@aol.com

EB—0008719 pE

WALTER A. TILLIT Jr,

FLORIDA tic. # 44167

TITAN Il FOLDING IMPACT PROTECTIVE SYSTEM Dm’;‘“?f
63/10/15
FOLDING SHUTTER CORP. DATE
R B s
PH: 1800—643—6371 15-014
www.foldingshutters.com DRAWING No
FEY. o DESCRIFFION DATE REV. Mo NESCRIPTION DATE
1 oD 13-080 03/0/15 3 SHEET 2 OF 13
2 &

et




| a
S e
! 12* NN, CLEARANCE ! (3} ROWS OF
! e VA 1/t e HoLES
i s EA. SPACED
| 0(5 Q . 3/8" APART
: 9080 ! N BOTH
: 8 o 8 ! DIRECTIONS.
sc SLAT'S | 08 |
S KVUCKLE— | o 8 o) !
S N 080 |
N | 059 |
) [ O O O 1
i 0/0 |
! 080 |
) -
z ! ;
2e || 1.000" i
iz | | !
Bs | ;
“n
55 | | /@
3 | L | SLAT WINDOW
S= t i
28 || |
SE | 1.000" !
3 @ i MAX. |
N i '
i Ll
-
Q) 1
398 |
! 380 !
. ! 0906 I
3 ! 086 |
= sars QR0 ;
3 KNUCKLE— | 050 ;
Y e ! O o t
! O O O ! .
| Q/0 | S—(3) ROWS OF
: 0/0 ! 1/4" @ HOLES
i Q? O i EA. SPACED
; 12" MIN.CLEARANCE | 3/8" APART
! TO SLAT BGTTOM : IN BOTH
E | EDGE ! DIRECTIONS.
L*L_l/\/""_:
T |
! i
NOTES:

— TO BE USED AS AN OFTION FOR ALL INSTALLATIONS
UNDER LARGE MISSILE, MAY INCLUDE PERFORATIONS
AS PER THIS DETAIL.

— MAX. (2) WINDOWS MAY BE IN ONE SLAT SPACED
MIN. 247 APART (MAX. EVERY 10 SLATS)

TYPICAL ALTERNATE PERFORATED

2

SLAT'S
RNUCKLE—
(TYP)

24" MiN. CLEAR SEPARATION
BETWEEN SLATS VIEWING WINDOWS

f%%
I, |

SLAT'S
KNUCKLE—/
(e}

WIEWING
WINDOW

SLAT WINDOW

-t

VIEWING
WINDOW

(1) SLAT WINDOW ELEVATION

(LARGE MISSILE IMPACT)

SLAT WINDOW ELEVATION
TYPICAL (1A) SLAT WINDOW DETAILS

@)

03~
10 7/8* (MAX.) DLO

1 3/8"
(MAX) DLO

NOTES:

Z—CLIP EACH SIDE
OF WINDOW (SEE TABLE 1)

SNAP—IN END

@2 cLip TOP/BOTTON
OF WINDOW

(SEE TABLE 2)

0.060" THICK
POLYCARBONATE VIEWING

WINDOW (SEE TABLE 1)

— MAX. (2) WINDOWS MAY BE IN ONE SLAT SPACED

A MINIMUM OF 247 APART, WITH 127 MIN. FROM

ENDS OF SLAT TOP & BOTTOM.
- @ SLAT MUST NEVER BE INSTALLED ADJACENT
70O TH

NTERPIECES (4) OR(D)

@3 SLAT

WINDOW DETAIL

o.080"
6.068"

-

p.240"

N

e) zf?sz

— ]

(ELEVATION)

@

, NOR AT CORNERS OF PRODUCT.

0.060"~ 0,0507
0.060" [~
4 |-0.050"
§_ 14"
o

6.250"

SNAP—IN END CLIP

W/ (20) VIEWING WINDOW & 21) . 22) CLIPS

(SMALL MISSILE IMPACT)

TABLE 1+ SOURCES FOR 20) & C)

OPTIONS
TYPICAL PROPERTIES STANQARD BAYER SABIC INNOVATIVE
REFERENCE  MATERIAL /' SCIENCE FLASTIC
LLCMAKROLON 3103| LEXAN 103 RESIN
PHYSICAL:
SPECIFIC GRAVITY ASTH D792 0.043 Ib/in 0.043 /i
MECHANICAL:
TENSILE YIELD STRENGTH ASTM DB38 9,400 p.si 5,500 p.si
FLEXURAL STRENGTH AT VIELD ASTM D790 12,500 p.s.i. 13,400 p.sii.
FLEXURAL MODULUS ASTM D790 340,000 p.s.i. 345,000 p.si.
IMPACT:
NOTCHED 1ZOD ASTM D256 18 Fi—b/fin 17 ET=lbfin
FIRE_BURNING CHARACTERISTICS:
SMOKE DENSITY ASTM D2843 472 % 64.5 % MAX
RATE OF BURNING ASTM DB35 C—1 CLASS C—1 CLASS
SELF 1GNITION ASTM D1929 1040 °F 980 °F
WEATHERING: ASTM G155 '
| TENSILE STRENGTH AFTER WEATHERING ASTM 638 9302 p.si. 8840 p.si
TENSILE STRESS BEFORF. WEATHERING ASTM 638 8461 p.si. 8880 p.s..

TABLE 2: SOURCES FOR @22
MASTER TOOL COMPANY
STANDARD
TYPICAL PROPERTIES
F REFERENCE BLACK NYLON PART

# 20519A/8
PHYSICAL:
SPECIFIC GRAWITY ASTM D792 0.042 tb/in®
MECHANICAL:
TENSILE YIELD STRENGTH ASTM DB38 11,500 p.si
FLEXURAL STRENGIH AT YIELD ASTM D790 15,000 p.si
FLEXURAL MODULUS ASTM- D780 450,000 p.s.i.
IMEACT:
NOTCHED $Z0D ASTM D256 0.6 FT-Ib/fin
THERMAL PROPERFIES:

: : -
COEFFICIENT OF THERMAL EXPANSICN ASTM DEY6 55 x 10 in/in—F
FLAMMABILITY UL 84 V-2
MELTING TEMPERATURE ASTM D3418 500 °F

FLORIDA BUILDING CODE (High & Mon High Velocity Hurricane Zone)

éa;

“nseuﬁ“\‘*

© 2015 TILTECO INC. TITAN H FOLDING IMPACT PROTECTIVE SYSTEM me}“ | o
03/10/15
/ liLlEco .. \ FOLDING SHUTTER CORP.
TILLIT TESTING & ENGINEERING COMPANY 7089 HEMSTREET PLACE
WEST PALM BEACH, FL 33413
W. 36th. . St , VIRGINIA GARDENS, Fi. 33 . —
B35S Reone - (ms%wﬁtggg Ve (305)871—15313 186 PH: 180D—643-8371 15-014
e—mail: tilteco@aol.com www.Toldingahutters.com DRAWING Mo
£5—0G0B719
WALTER A. TILLIT Jr. P.E. REY. No DESGRIPTION CATE | REV. Mo DESCRIPTION DATE
FLORIDA Lic. # 44167 1 WD 3080 afos) 3 SHEEE J OF 13
T 4




@ ®.®+ 6

/@of@w/ @ , ,@ OR

l (2)

MAX. SPAN
{SEE SCHEDULE ON SHEET 13)

+t 350%

\
[

N\

- N

L““-_
A
N I
USE (2) G AT 307 / /—C s & NOTES ON §5 & LOCKING TUBES (8 AT @& ().
0.C. FOR SPANS . , 15) " \\ @ & @e®
Up 70 99 2 lv -~ 1. TWO (2) {5 SHALL ALWAYS BE USED AT PRODUCT'S MIDSPAN SPACED
T“‘_E_‘“"‘“* - ‘ . AT 30”7 0.C. FOR SPANS UP TO 99”. USE THREE (3) FOR LARGER
R T UsE (3) €5 AT 307 oC. SPANS SPACED AT 30" 0.C. AT MIDSPAN. COMPONENT §5 MAY BE
= T FOR SPANS LARGER INSTALLED INTERIOR OR EXTERIOR SCREWED TO TAPPED CENTERPIECES
l ] THAN 997 UP TO 144 (#)OR (5). LOCATION OF (5 SHALL BE AS SHOWN ON TYPICAL ELEVATION.
/‘
= A
< [ | 2. (2) LOCKING TUBES (& SHALL ALWAYS BE USED TOP & BOTTOM AT
73 | IO N S, sy | PRODUCTS CENTERPIECES (4) OR (5)AT ALL INSTALLATIONS. LOCKING TUBES
g ‘ {8 SHALL BE SECURED W/ LEVERS AS SHOWN ON SHEET 9.
<L
=

108)(2)

SHS

T SEE LIMITATIONS FOR (A ON SHEET 2

"l
N

£}

Pl
Fa
/

v

'\‘ % 1]
{rt» T3
1_» > b b i h
SEE END CONNECTION DETAILS .
L L 0.0, 0+ 8.0+ @0+ B
| @+ @0, @+ (0 + 43, @+ a9

UNLIMITED WIDTH

TYPICAL ELEVATION &

N. T. 5.

& NOTE: :

SEE SECTIONS 1 THRU 3 ON SHEET 5.
SEE SECTIONS 4 THRU 6 ON SHEET 6.
SEE SECTIONS 7, 7A & 7B ON SHEET 7.

SEE SECTIONS W & 2W ON SHEET 10. \\‘““E‘KW'T“}&ZW;W”/

SEE SECTIONS 4W, 4AW & 7W ON SHEET 11. STAREAS T e ; i i ;

SEE SECTIONS 7AW, 7BW, SW & 14W ON SHEET 12. \4&, , v ‘//0” FLORIDA BUILDING CODE (High & Non High Velocity Hurricane Zone)
© 2015 TILTECO INC. TITAN |i FOLDING IMPACT PROTECTIVE SYSTEM Dﬁ‘%?

/ liLlEco.. & FOLDING SHUTTER CORP. e

|
TILLT TESTING & ENGINEERING COMPANY 7089 HEMSTREET PLACE
WEST PALM BEACH, FL 33413
5355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, FI. 33166 ) -
gilone : (305‘3'3714530 . Fax : {305)871-1531 PH: 1800-643—6371 1 5 014
e—mail: tilteco@®aol.com www.foldingshulters.corn DRAWING No
EB—-0DO6719
WALTER A. TILLIT Jr. P.E. REV. No BESCRIPTION DATE | REV. Mo DESCRIPTION HATE

FLORIDA Lic. # 44167 1 o 13-080 LOE] ] SHEET 4 OF 13
+




POURED CONCRETE
OR CONCRETE BLOCK

WALL REQUIRED.

CONNECTION C

0.855"8 (TYP.)

0.060" THICK S.S.
ROLLER HOUSING

) (TYP.)
3 Y P

OPTIONAL RAIN HCOD
(NON—-STRUCTURAL)

0.373" LONG NYLON
BUSHING W/ A ©.150"

i
i
] #10 x 3" S5. SMS. vi//‘
|
i

LONG TOP SECTION 0.500" 0.16340.270"
0.D. AND 0.245” i.d. AND «0.040"
| o223 1onG BOTTOM ULTRAFAR
| SECTION 0.320" 0.D. AND | F | weATHER
I 0.245" i.d. 4| STRIPPING EA.
(1YP.) SIDE (TYP.)

3/167 ALUM. »
POP RIVETS,
® 18" OC

~

i
POURED CONCRETE
OR CONCRETE BLOCK
WALL REQUIRED.

(SEE SHEET 13)

e

! TO GLASS
| (SEE SCHEDULE ]
ON SHEET 13)

H
E
;

|
o §

POURED CONCRETE
WALL, REQUIRED.

OPTIONAL RAIN HOOD POURED CONCRETE 7
(NON-~STRUCTURAL) REQUIRED.

1.000°] 2.500" MIN.
MIN, ED. .

==
§"
H

I miN. SEPARATION

OR CONCRETE BLOCK (SEE SCHEDULE ™
ON SHEET 13}

—r
MAX, SPAN
{SEE SCREDULE)

POURED CONCRETE i
OR CONCRETE BLOCK
WALL REQUIRED.

500"

WS

#10x3° S5. SMS. W/ 1/27
x1" LONG NYLON BUSHINGS
(Typ. BOTTOM), AND 3/4”
LONG(fyp. TOP), EXCEPT AT
ROLLER HOUSING (TYP.)

A\

437"
MAX

WALL FACE MOUNTING INSTALLATION CONSTRUCHION PRODUCTS

<

e

i |

EXISTING NON STRUCTURAL WALL
TRIM (DECORATIVE HEAD)

WALL FACE MOUNTING INSTALLATION

SECTION 1

SECTION 2

50 %
OF ANCHOR
SPACING

12" ——

o)

& CONCRETE BLOCK

SCALE: NT.S.

STAGGERED ANCHOR _SPACING

DETAIL FOR(;)
INSTALLATIONS DETAILS INTO CONCRETE

&‘Eﬂ; : T;,'}?i/?;,,

1/4" 8 % 17 TEK
SCREW OR 1/48-207x1"
SS5. MS WITH NUT &
WASHER @ 4" 0.C.

(224" MAX.)

437"
MAX

1/4" # ITW BUILDEX
TAPCON W/ ADVANCED
THREADFORM FECHNOLOGY

.500"

CRETE~FLEX W/ 1 3/4"
MIN. EMBEDMENT @ & 0.C.

T B LA OPTIONAL
| 32 / / . RAIN HOOD
Py (NON—STRUCTURAL)
| | = <
3/16™ ALUM. POP RIVETS, : - () g T -
@ 18" 0.C. ; {27x4” MAX.) lr“'“_‘“-— e 1k %
1/4*  ITW BUILDEX : 5
TAPCON W/ ADVANCED | Il
THREADFORM TECHNOLOGY | _ e
) CDNS!RU%R}IJD{“I;RSDS‘-% | /4" 9 x 1" TEK — ! il
oF 23 CREE-REX W/ 1 3/ | SCREW OR 1/48-20"x1" ! 37167 ALUM. | {]]
g2 - S.5. MS WITH NUT & POP RIVETS,
AT &Y MN EMBEDMENT @ 6° OC. I WASHER © 4" 0.0, @ 158 0.0
§(Un l 2 [ i or
= Ll 1'
iad
& I i i L2
u [N ) (BN
%
!f \/\ \ﬂ = %
@At T A A o
! MIN. SEPARATION ©
i TO GLASS m m
1 (SEE SCHEDULE
i ON SHEET 13)

(1) or

= .
437"
MAX

g

GROUTED BLOCK REQUIRED 1.000°F 2.500" Mil.
(MIN. f'o= 2 ksi GROUF) OR MIN. ED.
POURED CONCRETE 7//

EXISTING NON STRUCTURAL
WALL TRIM {DECORATIVE SILL)

DECORATIVE WALL TRIM TRAPPED

MOUNTING INSTALLATION

SECTION 3

MAX. AS.D. DESICN PRESSURE RATING = +65.0, —90.0 PSF[

27

FLORIDA BUILDING CODE (High & Non High Velocity Hurricane Zone)

NOTE FOR COMBINATION OF SECTIONS:

1— MOUNTING SECTIONS CAN BE COMBINED
IN ANY WAY TO SUIT ANY INSTALLATION,

* £ D = EDGE DISTANCE
(SEE SPECIFICATIONS ON SHEET 13)

© 2015 TILTECO INC.

TITAN il FOLDING IMPACT PROTECTIVE SYSTEM DRaWN BY:

AG. /ML,

/TLIECO me. \

T SEE LIMITATIONS FOR (A ON SHEET 2

TILUT TESTING & ENGINEERING COMPANY

FOLDING SHUTTER CORP. A

7089 HEMSTREET PLACE

/4 ﬁ‘ 3 St., Ste. 205, VIRGINIA GARDENS, 7l 33166 WEST PALM SEACH, FL 33413 _
8 -BF oL 6353 g‘n"«'a}.a‘,’?ﬁbﬂs}bﬁ»amﬂ Fax : (308)871—1531 PH: 1800—643—6371 15-014
3 e—mail: tiltecoB®aol.com www foldingshutters.com DRAWING No
3 2 o EB--0006719
< 3 WALTER A. TILUIT Jr. P.E. REV. No DESCRIPTHIN DATE REV. Ho BESCRIPTION TATE
-FLORIDA Lic. # 44167 1

o 13-080 3/10/15 3 SHEET 5 OF 13

4




1/47¢ x 3/4° TEKS SCREW OR 1/4" x 3/4' i \/\ I \/\
BOLTS W/ NUTS & WASHER @ 6" O.C. .
POURED CONCRETE OR 25&%!2 THHéCugtﬁcs I MIN. SEPARATION I MIN. SEPARATION
! 10 GLASS | TG GLASS
CONCRETE BL%(I:-I%UVIVQIEB ) f=—"(SEE SCHEDULE™ | H é l - {SEE SCHEDULE =1 .
£0 O AN A ” ON SHEET 13) = \_® =2 ON SHEET 13} : = \‘® or 22
CONNECTION C4 £Q. £Q. (NON--STRUCTURAL) | o LG H | B 5
'SEE SHEET 13 T N | . B
¢ ) #10x3" SS. SM.S. W/ 1/2" ALTERNATE 3 /16" ALUM. AT = ALTERNATE 3/167 ALUM. __| 2
x3/4" LONG NYLON BUSHINGS BOP RIVETS @ 5° 0.C. : POP RIVETS & 5° O.C. i &
) (Typ. TOP} AND 17 LONG (Typ. AT REAR.| % ! | | AT REAR. E
8 / & BOTTOM), EXCEPT AT ROLLER !
=1 HOUSING (TYP.) i i 1
L S e 1 i 3 i &
b (2) NYLON [ e EE 1 ] 5E BE i W, 11 E:
- ROLLERS—1 - T % ) - R
0.855" P i l 1 ::g = 9 i ~Z E0.EQ o A s
i - = 3/16% ALUM. POP RIVETS i 3/16° ALUM. POP
\AL 1 i l @ 107 0.C. HOTH SIDES [ y @ 10" 0.C. BOTH SIDES
TERNATE \ . .
4 156G & ANCHO 3/16" ALUM. POP NN
ORIENTATION &) RVETS @ 18" O.C.
#10 x 37 SS. SMS. W/ y .
0.373" LONG NYLON - //// \ ' »
ONT. 01635 £, . MIN. 3/4” PLYWOOD
BUSHING W/ A 0.150" | " -1 H 5 MIN. 3/4” PLYWOOD % / '
LONG TOP SECTION 0.500 MIN. SEPARATION 0570 0,050 ) / ) REQUIR/ED 3 /2 MIN.  REQUIRED
0.D. AND 0.245” id. AND (SEE SCHEDULE WEATHFR o 1/4” ¢ TAPCONS OR g =8 & d
0.223" LONG BOTTOM o SHEET 13 STRIPPING EA. —or > CRETE—FLEX / = 1/4" THRU BOLT W/
SECTION 0.320° O.D. AND 19 SIDE (1YP) | 4t 32 PNCHORS & 0.C. i i WASHER & NUT @ 10" O.C.
0.245" id. _ E : s EACH SIDE.
\ 3 1/4" THRU BOLT W/ 2
i \/ \/\ =4 WASHER & NUT ® &" 0.C 2 1/4 # TAPCONS OR
@ POURED CONCRETE OR CRETE—FLEX ANCHORS 6" O.C.
| h ¢h CONCRETE BLOCK WALL / . o '/ o
" \® ar REQUIRED 2"x4" OR 2"x5"x1/8 POURED CONCRETE OR 5"%3"x1,/8" 6063~T6 CONT.
MIERNATE 3/16" ALUM @ t B0B3—-TE CONT. ALUM. CONCRETE BLOCK WALL ALUM. ANGLE OR BEWT PLATE.
'POP RVETS © 5° G.C. : ANGLE. REQUIRED
T REAR.
T | . STANDARD COUNTER—TOP MOUNTING INSTALLATION ALTERNATE _ COUNTER—TOP MOUNTING
i 1 . . -
1 i SECTION S5 INSTALLATION SECTION 6

- [MAX. AS.D. DESIN PRESSURE RATING= +66.0, —66.0 PSF | [MAX. ASD. DESIGN PRESSURE RATING= +66.0, ~66.0 PSF |
f 53 \/\ \/\
tl'.O i <+ = . ]
! I
= 3/16" ALUM. POP RIVETS @ : MIN. SEPARATION
10" 0.C. BOTH SIDES TO GLASS
1 = \_@ (SEE SCHEDULE =
i ON SHEET 13) =2
5 5 ! 0N or 2
@ i ALTERNATE LEG : or =z
‘ ] i & ANCHOR At =u
CONNECTION €3 Q. £Q. p ORIENTATION o
(SEE SHEET 13) . g‘ﬁfgﬁgﬁ LEG i
ORIENTATION i
1/4" x 3/4" TEKS SCREW W/
POURED CONCRETE OR " 5/B" WASHER OR 1/4" x 3/4" . "
CONCRETE BLOCK WALL BOLTS W/ NUTS & 5/8" WASHER @ 3 3
REQUIRED 4 0C. oM , b
=z \ . <+ =
=
BUILD—OUT FACE MOUNTING INSTALLATION ——
o
SECTION 4 2\

\__1/4" x 3/4° TEKS SCREW
OR /4" x 3/4" BOLTS W/ NUTS
& 5/8" WASHER @ 6" G.C.

EQ. EQ.

POURED CONCRETE OR
CONCRETE BLOCK WALL

INSTALLATIONS DETAILS INTO CONCRETE REQURED
& CONCRETE BLOCK BUILD—OUT FACE MOUNTING INSTALLATION

SCALE : N.T.S. ON 4A BOTTOM FLORIDA BUILDING CODE (High & Non High Velocity Hurricane Zone)
. &. z/,’ © 2015 TILTECD ING- TITAN Il FOLDING IMPACT PROTECTIVE SYSTEM| O O
NOTE FOR COMBINATION OF SECTIONS: E ED. = EDGE DISTANCE 3 i
1— MOUNTING SECTIONS CAN BE COMBINED (SEE SPECIFICATIONS ON SHEET 13) A .- — I l 03/10/1%
IN ANY WAY TO SUIT ANY INSTALLATION. ¥ = 0 * IL E C o iINC. FOLD!}NBE HSHUTTELEORP' DATE
¥ 3 K= T TESTING & ENGINEERING COMPANY 089 HEMSTREET
xS/ A%/éf I A ST A SR, 0 S 15-014
1t SEE UMITATIONS FOR @ ON SHEET 2 = -0, el AR D A E o (ewmcll titecoast.-com www.foldingshutters.com DRAWING No
, WA . 0006719 ;
{ toa by s i N WALTEFEB A.D%OLLW Jr. P.E. REY. No DESCRIPEGN DATE REV. Mo DESCRIFTION DATE
FLORIDA Lic., # 44167 1 ou 1300 03/10/15 3 SHEET & OF 13
z 4

"’“imsmu““




re——% MiN. E.D.——

) e EQ
CONNECTION C5
(SEE SHEET 13)

POURED CONCRETE
. REQUIRED_\
0.060" THICK 5.5,

% ROLLER HOUSING —>

™ 4 / 7 /

CPTIONAL RAIN HOCD
(NON—STRUCTURAL})

T2
M =L
(2} NYLON = 10x3" S.5. SM.S. W/ 1/27
P ' x3/4" LONG NYLON BUSHINGS
ROLLERS 0.855"¢ (TYP.) : (Typ. TOP) AND 1* LONG (Typ.
g BOTTOM), EXCEPT AT ROLLER
HOUSING {TYP.)
#10 x 3" S5, SMS. W/ / |
0.373" LONG NYLON PE- 3718 ALUM.
BUSHING W/ A 0.150" POP RIVETS,
LONG TOP SECTION 0.500" = @ 18" 0.C.
0.0. AND 0.2457 id. AND i CONT. 0.163"x0.270"%0.030"
0.223" LONG BOTTOM ULTRAFAS WEATHER i \/\
SECTION G.320" O.D. AND STRIPPING EA. SIDE (TYP.) i | o
» . -}
"y N Dor 3 i -+
; @ t %2 MIN, SEPARATION 5 HH
& o TO GLASS g g
\E/\ 5 """ (SEE SCHEDULE £ gm
> 38
ON SHEET 13 = r
MIN. SEPARATION 3y ) i & \/\
TO GLASS @ ' : T | L
=" {SEE SCHEDULE ™" or : I i Y
(SEE SCHED. 35“ ~@ : E: MIN. SEPARATION I l z3
4 1/4" 9 x 1° TEK SCREW OR } - TO GLASS ] HY
1745-20°1" S5, MS WITH - (SEE SCHEDULE 1 D orxt
OPTIONAL RAIN GUARD NUT & WASHER @ 4" 0O.C. ON SHEET 13) réu
(MON—STRUCTURAL) | B i @ '
3/16" .
ALTERNATE 3/16” ALUM N OFTIONAL RAIN GUARD
POP RIVETS ® 5" O.C. y f Al
AT REAR. \ ) {NON—STRUCTURAL)
1 5% = : . '
‘ . mE ) ) =3 ALTERNATE 3/16” ALUM. _J -
* ® ALTERNATE LEG G s : . POP RIVETS ® 5™ 0.C. | o
=g o LOCATION WITH Rz " AT REAR. D =
] "71.% 3/16" ALUM. POP RIVETS ANCHOR o CONNECTION C7 3
l _ @ 10" 0.C. BOTH SIDES = (SEE SHEET 13) - 3/16" ALUM. POP RIVETS
/ / ' WO . l @ 10" 0.C. BOTH SIDES
o EQZE; EDGE OF : ; 7
7 —EQ. : SLAB IF ——— ] / EDGE OF
o APPLICABLE R e SLAB IF
POURED CONCRETE CONNECTION C6 / APPLICABLE o
REQUIRED (SEE SHEET 13) :
- : POURED CONCRETE
QB REQUIRED.
FOURED CONCRETE — V-
. —_ REQUIRED
MIN. E.D. : e+ MIN. ED. e ¢ MIN. ED. (SEE SHEET 13)

* MIN. E.D.

TRAPPED MOUNTING INSTALLATION ALTERNATE TRAPPED MOUNTING ALTERNATE TRAPPED MOUNTING

SECTION 7 INSTALLATION AT BOTTOM INSTALLATION AT BOTTOM
SECTION 7A SECTION 78

INSTALLATIONS DETAILS INTO CONCRETE & CONCRETE BLOCK

SCALE: N.T.S.
‘@‘ﬁm?ﬁfﬁ”” FLORIDA BUILDING CODE (High & Non High Velocity Hurricane Zone)
AN NI @ 2015 TILTECO INC. DRAWN BY:
NOTE_FOR_COMBINATION OF SECTIONS: * ED. — EDGE DISTANCE §-§/\CENS€(/,’9’?” TITAN 11 FOLDING IMPACT PROTECTIVE SYSTEM AG./ML.
- =\ =
1— MOUNTING SECTIONS CAN BE COMBINED (SEE SPECIFICATIONS ON SHEET 13) S oz 03/10/15
IN ANY WAY TO SUIT ANY INSTALLATION. A e ILIEC O in-. FOLDING SHUTTER CORP. bATE
= ' . = 7089 HEMSTREET PLACE
z *5// _ : . S 61;5!§L.LTW TaEsﬁ-.Tlg.ng SENG:]NEERING COMPA!&:ES WEST Bt e P 33413 15-014
= Y E%/. N - Fhona : {305}371»1530 Fax : (305)&71 —-1531 PH; 1800-643-6371
T SEE LIMITATIONS FOR @ ON SHEET 2 = .l A F ;{?’: = e—mail: tiltecoBaol.com www.foldingshutters.com DRAWING No
= Iy = EB—-0D06719
f:.’p £ emnh — WALTER A. TELIT Jr. PE. REV. Wo DESCRIPTION ot | mev. be PESCRIFTION oAt
% £y SEA " - FLORIDA Lic. # 44167 1 o 13-080 w/ons] 3 SHEET 7 OF 13
pit 2
e

* g‘#ﬁtmam“\“ ‘



=

POURED CONCRETE
OR GROUTED CONCRETE
HLOCK WALL REQUIRED

6.000" MAX.
(SEE SCHDULE)

(2) ROWS OF 1/4"8 TAPCONS

ANCHORS {TYP.) (SEE SCHEDULE)

(6) 1/4° x 3/4" TEKS SCREW

AT 2" O.C. LONGITUDINALLY.

"x4” or 33" or

3271 /4% LENGTH
6063—76 ALUM. ANGLE
(SEE SCHEDULE)

SCALE: N.T.S.

SPAN TUBE PER SCHEDULE
L 5063-T6 ALLY

1/4" x 3/4" TEK SCREW
@ 8" oC.

437"
WAX,

®
-
SHUTTER SPAN

“(SEE SCHEDULEY™

3"x4” or 3°x3" or
3"2%1 /4% LENGTH
£063-T6 ALUM. ANGLE
{SCE SCHEDULE)

=
AT /A

%-[ L
L —(Dor n:%

wmwn

P

@ 5%

~~—1/4" x 3/4" TEK SCREW
@ 6° 0L

\—spm TUBE' PER SCHEDULE

POURED CONCRETE
OR CGROUTED CONCRETE
BLOCK WALL REQUIRED

{3) ROWS OF 1/470
TAPCONS ANCHORS
{TrP.) {S$EE SCHEDULE}

.

e
Z

POURED CONCRETE
OR CONCRETE
BLOCK WALL REQUIRED

(6) 1/4" x 3/4™ TEKS SCREW
AT 2% 0.C. LONGITUDINALLY,

(6) 1/4" x 3/4° TEKS SCREW
AT 2 0.0, LOMGITUDINALLY.

6.000" MAX.
(SEE SCHDULEY

B063—T6 ALLOY

(6) 1/4" x 3/4" TEKS SCREW
AT 27 Q.C, LONGITUDINALLY.

(2) ROWS OF 1/4"8 TAPCONS

SCALE: N.TS.

ANCHORS (TYP.) (SEE SCHEDULE}

SPAN TUBE MOUNTING INSTALLATION

34" or 33" ar 32147
x LENGTH B8063-T6 ALUM. ANGLE
(SEE SCHEDULE)

I

6.0007 MAX,
(SEE SCHOULE)

§

g5
SHUTTER SPAN
“(SEE SCHEDULE) ™

437"
MAX

B063-T6 ALUM. ANGLE

P

34" or Fx3" or_x
[372 "1 /47x LENGTH
BGE3—T6 ALUM. ANGLE
(SEE SCHEDULE)

ANGLE
LENGTH (TYP) ™

_0_75'—6"_““'_ ""____—_—o—"'c_:-__o—
T S — ’——~-—-----—————-———1—-—g——:!-—-
o0 ©0 ©O o 0 0
5\ / ?

L 1727 TYp. ]

37x4” or 3"x3" or

[3"x2"1, /4" LENGTH
(SEE. SCHEDULE)

\

V'

b~ —OPENING WIDTH
MAX. SPAN TUBE LENGTH

Lo

>t

LRV

ED. (TrR)

TYPICAL ELEVATION (TUBE AT TOP)

SCALE: N.T.S.

MAX. SPAN TUBE LENGTH

QOPENING WIDTH

4 1/2" MIN.
ED. {TYP)

[ 70}

3x4t” or 33" or
I'x2"x1 /4" LENGTH

(SEE SCHEBULE}

Ay

5
= |
[=]
o
60636 ALUM. ANGLE i
2
=

SPAN

172" TP

ca MAX. PRODUCT
SPAN

Y Y r’
[}
| 2.9 9 0_ 0 _ON
S Em S me————— ==
Q Q o (o] O

N 4 MIN. SPACING
“TBETWEEN ANCHORS {TYP.)

/></ /<< ,
9 SPAN TUBE PER SCHEDULE

SCALE: NS,

4 1/2" ED.
(oR)

MAX, SPAN TUBE LENGTH

QOPENING WIDTH——————

[ZR)

il

3"x4™ or 3™3" or
3x2°x1 /4™ LENGTH
5063~T6 ALUM. ANGLE
{SEE SCHEDULE)

e~ /2" TYP.

MAX. PRODU
o—M* RV

- 9 o .0 Allo o ol
1/4¢x3/4 TEK SCREW e e —_—— — — — = ——
- . ¢ 2l
- SPAN TUBE PER SCHEDULE e o e R AR = = =
6063-T6 ALLOY | o 0 o o o \o
& xS f i/
9%
=
g “x4” or 3"x3" or
) ' I 4"
i x LENGTH 6063-T6
ZzY ALUM. ANGLE /1
@ “%é (SEE SCHEDULE)
T 55
T s Ly
y | B L Gor
i

3™4” or 337 or 32xt/4"

SCALE: N.TS.

SPAN TUBE MOUNTING INSTALLATION

 x LENGTH BO83-T8 ALUM. ANGLE
(SEE SCHEDULE)

: L—""\—SPN‘{ TUBE PER SCHEDULE

TABLE 1- MAX. SPAN TUBE LENGTH SCHEDULE (TUBE TOP OR BOTTOM) %
ALLOWABLE TUBE | RFQ'D ANGLE | NUMBER OF ANCHCRS
TUBE MAXIMUM SPAN LENGTH FA. END | PER END OF TUBE
SIZE PRODUCT “["ToP OR BOTIOM | TOP OR BOTIOM | TOP OR BOTIOM
TUBE TUBE TUBE
60" 106.0" 13 8
2"x4"x1/8” a5” 85.07 17 10
144" 69.0" 13 8
80" 117.07 17 10
27x4"x1 /47 96" 110.0" 21 12
144 91.0” 21 12
80" 109.0" 17 10
2"x57x1 /8" 96" 100.0° 21 12
144 81.0” 17 10
80" 124.07 21 12
27671 /8" 96" 114.0° 71 12
144" 93,0" 21 12
k VALID ALSC FOR MIDHEIGHT TUBE INSTALLATION ONLY WHEN THE SUMATION OF THE
SHUTTERS HEIGHT ABOVE & BELOW DOES NOT EXCEED THE MAX. PRODUCT SPAN
SHOWN ON TABLE 1.
TABLE 2: MAX. SPAN TUBE LENGTH SCHEDULE (TUBE AT MIDHEIGHT)
TUBE MAXIMUM | ALLOWABLE TUBE | REQ'D ANGLE | NUMBER OF ANCHORS
SIZE SPAN SPAN LENGTH EA. END | PER END OF TUBE
60" 76.07 13 12
27x4"x1/8” 96" 60.0" 17 15
144° 480" 13 12
80" 87.0" 21 18
27°x47%1 /4" 96" 79.0" 21 18
144" 65.0" 21 18
280" 77.0" 17 15
2"x571 /8" 96" 70.07 21 18
144" 57.0" 17 15
80" 88.0” 21 18
2"x6"x1/8" 98" 81.0" 21 18
124" 66.0" 21 18

OR GROUTED CONCRETE BLOCK WALL

SCALE: NT.S.

l MAX. A.S.D. DESIGN PRESSURE RATING =

+72.0 PSF |

INSTALLATIONS DETAILS W/ SPAN TUBE INTO POURED CONCRETE

FLORIDA BUILDING CODE (High & Non High Velocity Hurricane Zone)

SCALE: NT.5.

T SEE LIMITATIONS FOR @ ON SHEET 2

ie———————————0PENING Wi

3!5#&5%?5-?‘” \\\:'

@ 2015 TILTECO INC.

TITAN H FOLDING IMPACT PROTECTIVE SYSTEM

DRAWN BY:

6355 NW. J6th, St.

AG. /ML
03/16/15
/ IlL IE C O inc. \ FOLDING SHUTTER CORP. DATE
TILLIT TESTING & ENGINEERING COMPANY 7089 HEMSTREET PLACE
Ste. 305, VRONA CHRDINS, 7l 33166 WESTP&N%G%%HS_%%MH 15-014
e—rnail: t:lteco@uol com www.foldingshutters.com DRAWING No

Phone : (305)871—1530 Fox

WALTER A, TILUT Jr. P.E.

ER—-0006719

FLORIDA Lic. §# 44167

DESCRIPTION DATE REV. Na DATE

o £3-080 03/10/15 3

A

SHEET & OF 13

"’ﬂ?éitiﬂ““




/4" ¢ x 1 3/4" MIN. ED,
TAPCONS/CRETE-FLEX (s sheeT [ EXISTING GLASS
i ANCHORS ® 18" O.C. 13) / EXISTING STRUGTURE
1 T . Fuw
) j T " wiN. ED. ' =29 5.758" (TYP.)
- = - .
e ST TR 1 WO - —
" ——— ; = - "
- ™~ 316" POP RVETS OR @ CENTERPIECE FOR %4 !f{;CO?QSK/CI:IRéF/EtFLEX
e \ 1/4" x 3/4° TEKS @ () 17 ANCHORS @ 187 O.C.
y /@ . s oc . E 1 1 7
/16" POP RVETS 3 1 or @ 1' or @ T or @T )
EAGE AN or (AT 2 e
G- bl by
| WALL FA 5 i} 5 -3
90.0" 90. M
~ END_CONDITION o | ¥4
90.0r 3/1,1‘5" POP RVETS OR
N Y 8 2) SHOWN oS e 77777
S - (LEVERS INTERIOR OR
’,_, OR EXTERIOR) (2) (e 30" oC. @
O EXTERIOR (SEE NOTE 1) () o 30" oc. @ MIDSPAN FOR UP_ TO 99"
-~ ~ MIDSPAN FtéR)UP 70 99" SPAN & (3) (D) @ 30
s 0L ® MOSPAN FOR P 00 % i SoAN (TN {18
N HORI ZLONTAL SECT!ON 20 TO 1447 SPAN (THUMB SCREW MAY BE INSTALLED (LEVEés INTERIGR
7 \ " HORIZONTAL SECTION SCREW My =€ g‘x%'-l‘a% (LEVERS EXTERIOR) INTERIOR GR EXTERIOR) OR EXTERIOR)
/16" POP RIVETS - 2x2x1 /87 CONT,
%g(s]/; %{400 \ I* MAY VARY AT LAST SLAT AT TRAPPED INSTALLATIONS J OR B063-T6 ALLOY ANGLE 4)Y0R
/ - TAPCON/CRETE—FLEX SHO TAPCON /CRETE —FLEX SHO
SEE LIMITATIONS FOR (1A} ON SHEET 2 ANCHORS ® 18° O.C. 10 ' ORS @ 18° 0.C. TO
/ ¥ @ EXISHING STRUCTURE ANCEXSTING STRUGTURE
& T aD X
h . 7 \ 83 - 2E
- \ 12 T
T EXISTING STRUCTURE Sl 5 CONT %;Il/// %
BUILD-OUT sogafTé ALLOY ANGLE f = ’
EQ. .

END VCONDHION

NOTE 1

ONE LOCKING TUBE, PART #48, SHALL BE INSERTED INTO THE TOP AND BOTTOM OF EACH EXTERIOR OR
INTERIOR CENTERPIECE@OR (5), INSERTED INTO THE BOTTOM OF EACH ALUMINUM LOCKING TUBE @ A
SOLID THERMOPLASTIC TIP MUST BE INSTALLED. THE TOP 1.100° OF THE TIP SHALL BE SQUARE,
0.357"x0.357" AND IT SHALL BE FULLY INSERTED INTO THE ALUMINUM LOCKING TUBE AND SECURED
INTO IT WITH A 0.120" o.d. HOLLOW PIN. THE BOTTOM 1.100” OF THE TIP SHALL BE 0.363" DIAMETER WITH
A 0.200” LONG BEVEL TOWARD THE END AND A FLAT TiP. BETWEEN THE SQUARE TOP AND ROUND BOTTOM
OF THE TIP A SQUARE, 0.475"x0.475"x0.085" THICK COLLAR MUST BE INSTALLED. AT THE TOP OF THE
ALUMINUM LOCKING TUBE , A 2—PIECE, THERMOPLASTIC LATCHING MECHANISM MUST BE INSTALLED. ONE
(1)PIECE, 1.375” LONG, WITH A 0.366"x0.366"x0.630” LONG END SHALL BE INSERTED AND DIMPLE CRIMPED
INTO THE TOP OF THE ALUMINUM LOCKING TUBE . THE TOP OF THE PIECE MUST INCLUDE A 0.6847
DEEP BY 0.188” WIDE CHANNEL TO RECEIVE THE THERMOPLASTIC COMPRESSION LATCHING LEVER.

SOLID THERMOPLASTIC TIP INSTALLED AT SHALL BE ENGAGED INTO 3/8"¢ HOLES DRILLED ON THE OUTER
HORIZONTAL FLANGE OF TOP/BOTTOM TRACKS.

END INSTALLATION DETAILS INTO CONCRETE,
CONCRETE BLOCK & WOOD (AS APPLICABLE)

END LOCK ANGLE

W

3/16" POP RIVETS

OR 1/4" x 3/4” TEKS OR EXISTING STRUCTURE
1/4" % 3/4% BOLTS W/
NUTS @ 12" 0.C.

HORIZONTAL SECTION HORIZONTAL SECTION

. 2" x 2" x 1/8" 6063-T6
CONT, ALUMINUM BENT ANGLE

(2) (9@ 30" 0c. @
MIDSPAN FOR UP_TC 99™
SPAN & (3) (5 @ 307
0.C. @ MIDSPAN FOR UF
TO 144™ SPAN (THUMB
SCREW MAY BE INSTALLED
INTERIOR OR EXTERIOR)
ey

[T /A % 3747 TEK
i SCREWS ATTACHED TO ONE
i CENTERPIECE @ 8° GC.

(LEVERS INTERIOR
OR EXTERIOR)

{LEVERS INYERIOR
OR EXTERIOR)

ALTERNATE LOCKING SLAT CORNER LOCKING DETAIL

HORIZONTAL SECTION

END LOCK ANGLE

FLORIDA BUILDING CODE (High & Nan High Velocity Hurricane Zone)

© 2015 TILTECO INC. TITAN 1i FOLDING IMPACT PROTECTIVE SYSTEM Dm“_'}“ui“*
03/10/15
/ iLlEco e \ FOLDING SHUTTER CORP. o
TILLF TESTING & ENGINEERING COMPANY 7089 HEMSTREET PLACE
WEST PALM BEACH, FL 33413
. . St . 305, VIRGINIA GARD , FL. 33166 L] —
6358 :hb:nass:ﬁzsé)sfﬁtssu . Fax : (305)3?:3—1531 PH: 1800--643—6371 15-014
e—mail: flteco@gol.com waw.foldingshutters.com DRAWING No
EB—-0006718
WALTER A. TILLIT Jr. P.E. REY. Na DESCR¥THIN OATE | REV. No DESCRIFTION DATE
FLORIDA Lic. # 44167 1 o 13-030 wions) 3 SHEET 9 OF 13
2 4




2" % 27 x 1/87
ALUMINUM ANGLE

AUILD-OUT MOUNT
i l \ PER SECTION 4, SHEET 6
A A L 1 _\
(2) 3/16" POP RIVETS, X f
- x o " EACH LEG OF 2" x 2"
il_uiuﬁm: .:ﬁl/(;aLE ANGLE ANGLE LEG MAY FACE il o
AWAY FROM QPENING ~ -3
(AS SHOWN} OR TOWARDS .- — gz
OPENING. NO ANCHORS ar 4
- —r
=

! REQUIRED TO HOST
@ = STRUCTURE ]7\ f
BUILD-OUT MOUNTA \
PER SECTION 4, SHEET & {2) 3/16™ POP RIVETS,
EACH LEG OF 272"
/ ANGLE
' NOTE: SIMILAR AT HEAD PLAN VIEW A-—A
ALTERNATE WALL

MOUN FOR ONE L EXTERIOR ELEVATION AND SILL AND BOTH SIDES
OR BOTH ANGLES’—\/\,:::T“::\.\ OF PRODUCT
oo
T8 OPTIONAL SIDE ANGLE
(2} # 1/47 9 x 3/4° L;/,/ ~J)
TEXS OR 3/16" POP

11/2" x 1 1/2° x 1/8" x 0'-27 {FOR SECTION 4, SHEET 8)
MIN. ALUMINUM ANGLES TOP &

BOTTOM OR TO WALL (2 REQUIRED)

RIVETS PER ANGLE TD
TUBE

(2) 1/47 ¢ TAPCON/
CRETE—FLEX ANCHORS
EA. ANGLE TO SLAB

1/4" ¢ x t 3/&
TAPCONS /CRETE—FLEX '
ANCHORS @ 18" O.C.

END PIECES MAY BE FLAT

END OR L END
3/16" POP RIVETS OR EXISTING STRUCTURE

AL N

Y3l e @—(

1/2" MiN. i 4 [3)

=
CORNER POST EDGE OF CONCRETE g’/

ISOMETRIC SLAB

END PIECES MAY BE FLAT

(TYP. AT TOP AND BOTTOM SLABS) ENE OR L END

TRAPPED END
CORNER POST CONDITION W/ FLAT END

HORIZONTAL SECTION

m‘m\ ihiiufi Iy,
_....,_:{//‘!”f FLORIDA BUILDING CODE {High & Non High Velocity Hurricane Zone)
END INST ALLATION DETAILS INTO CONCRETE, “Q\. GENSS.":?) % © 2015 TILIECO ING. TITAN 1| FOLDING IMPACT PROTECTIVE SYSTEM| PRl ov
z ' 03/10/15
CONCRETE BLOCK & WOOD (AS APPLICABLE) / TLIEC O me, \|  FOLONG SHUTTER CORP.
N v TILUT TESTING & ENG#NEER!NG COMPANY wngcagﬁfETcEE %ﬁm
B P aaTor 11530 . Fox - R PH: 18006436371 15-014
e—mqélB tgiggg%u;l .corn www. foldingshutters.com DRAWING Ho
WALTER A._ TILLIT Jr. P.E. REV. Ho DESCRIFTION DATE | HEV. Mo DESCRIPTION DATE
FLORIDA Lic. # 44187 ] oln 13080 03/10/15 3 SHEET 94 OF 13
: F 4




E.SOU"

/WALL FINISH

0.060" THICK S.S.
ROLLER HGOUSING

11/2°
MIN. E.D.

ST

2"x4" CONT. WOOD f

HEADER REQ'D.

CONNECTION C1

#10 x 3” S5. SMS. W/
0.373" LONG NYLON
BUSHING W/ A 0.1507
LONG TOP SECTION 0.500°
i.d. AND
0.223" LONG BOTTOM
SECTION 0.320° 0.D. AND d

0.245" id.

0.D. AND 0.245°

(TrP.)

{2) NYLON
ROLLERS
0.855"8 (TYR.)

L.

OPTIONAL RAIN HOOD
(NON—STRUCTURAL)

#10x3" SS. SMS. W/ 1/27% x3/4"
LONG NYLON BUSHINGS (Typ. TOP)
AND 1" LONG (Typ. BOTTOM), EXCEPT
AT ROLLER HOUSING {TYP.}

f 3/18" ALUM. POP

0.163"%0.270"
x0.030"

STRIPPING EA.
SIDE (TYR.)

y.

2"x4" CONT. WOOD
PLATE REQ'D.

N\

)

MIN. SEPARATION
TQ GLASS

ON SHEET 13)

-

EG

EQ -

i |
o

(SEE SCHEDULE — 1 &

/

piic g |

MAX. SPAN.
{SEE SCHEDULE)

-

A

AR

\

500"

CONNECTION C1

WALL FiNISH

WALL FACE MOUNTING INSTALLATION

SECTI

ON 1W

437"
MAX.

RIVETS, @ 18" 0.C.

WALLL FINISH

%

:n\\“\w\\

1 172"
MIN, E.D.

[t

500"

CONNECTION C2

T

=

- 0.060" THICK 5.5. ROLLER HOUSING

OPTIONALL RAIN HOOD
{NON—STRUCTURAL)

500"

L]

2"x4” CONT. WOOD—/
HEADER REQ'D.

INSTALLATIONS DETAILS

l

(SEE SCHEDULE ™
I ON SHEET 13)
i

MIN, SEPARATION
TO GLASS

3/167 ALUM. POP

%

WALL FACE MOUNTING INSTALLATION

SECTION 2W (TOP)

INTO WOOD

f SEE UMTATIONS FOR §& ON SHEET 2

NOTES:

1— FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO
BE HAVE A MIN. SPECIFIC DENSITY OF 0.46 OR EQUAL

NOTE FOR_COMBINATION OF SECTIONS:

1- MOUNTING SECTIONS CAN BE CCMBINED
IN ANY WAY TO SUIT ANY INSTALLATION.

.umumm;.‘.

\\\\ ??\ A.

mmmmm,,

T [/?ff,p

MAX. SPAN
“T(SEE SCHEDULE)

RIVETS, @ 18" O.C.

FLORIDA BUILDING CODE {High & Non High Velocity Hurricane Zone)

\&‘?’ \(:‘ENSé:' U/P

@ 2015 TILTECO INC.

/TILIEC O me. \

TILLIT TESTING & ENGINEER!NG COMPANY
6355 NW. 36th. St

Phone ¢ (305)871 |.530 Fas( : (305)871 1531
e—mail: tilfeco@aol.com
EB~0006719

DRAWN 3Y:
TITAN 1§ FOLDING IMPACT PROTECTIVE SYSTEM AC./ML.
03/10/15
FOLDING SHUTTER CORP. 4
P s
PH: 1800—643-6371 15-014
www.foldingshulters.com DRAWING No

WALTER A. TILLIT Jr. P.E.

. No DESCRIFTION

DAYE

REY. No

DATE

FLORIDA Lic. # 44167 1

06N 13-080

@3/10/15

4

SHEET 710 OF 13

‘”ﬁﬂiﬂ’ﬂ“




1/4"@ x 3/4" TEKS SCREW OR 1/4" x 3/4'
BOLTS W/ NUTS & WASHER @ 6" 0.C.

_ 0.060" THICK S.

S.

ROLLER HOUSING

T SEE LIMITATIONS FOR (A ON SHEET 2

4"%B8" (Min.} EXISTING WOOD BEAM
REQUIRED. STRUCTURAL ADEQUACY
OF EXISTING WOOD BEAM TO BE

CERTIFIED BY REGISTERED

ENGINEER OR ARCHITECT PRIOR
TO PRODUCT INSTALLATION.

\\\ b

WALL FINISH

BUILD—OUT FACE MOUNTING INSTALLATION

SECTION 4W

NQTIE * : ALTERNATE LEG LOCATION AND ANCHORAGE TG WALL SHOWN DOTIED

INSTALLATIONS DETAILS

BUILD—OUT FACE MOUNTING INSTALLATION

SECTION 4AW (BOTTOM)

INTO WOOD

SCALE :

N.T.S.

SECTION 7W

2"%4”™ GONT. |, -CONNECTION C4
WOOD HEEDFR e c OPTIONAL RAIN HOOD NOTE_FOR COMBINATION OF SECTIONS:
Q& . Q. (NON—STRUCTURAL)
] % . , ) 1— MOUNTING SECTIONS CAN BE COMBINED CONNECTION €5 ——
~ g #10x3” S.5. SM.S. W/ 1/2"8 x3/4 IN ANY WAY TO SUIT ANY INSTALLATION.
uy
) s Al = LONG NYLON BUSHINGS (Typ. TOPF)
FEITIIivET | - AND 1" LONG (Typ. BOTTOM), EXCEPT
. AT ROLLER HOUSING (TYP.)
wa : NOTES: OPTIONAL RAIN_HOOD
> : i . {NON--STRUCTURAL)
T : (2) NvioN = —— BZ 1— FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO
= rﬂ-”— : =T “RoLLERS j| - BE HAVE A MIN. SPECIFIC DENSITY OF 0.46 OR EQUAL —_— R
| "1 ¢ lpssse (R | ! , ][* = ~| 5%
| PR | I 3! ‘|
RS it } - *
I Y pivinte BN Pty = H
IR L T I 3/16° ALUM. #10 x 3° S.5. SM.S. W/ 0.373" LONG NYLON
Lt N ek POP RIVETS,
-t = ATERNATE LEG @ 18" 0C. BUSHING W/ A 0.150" LONG TOP SECTION 3/16" ALUM.
LOCATION CONT. 0.500" ©.D. AND 0.2457 i.d. AND 0.223" LONG B POP RIVETS,
'| (SEE NOTE #)  0.163°%0.270"0.030" BOTTOM SECTION oaggp )ou AND 0.245 i, — @ 18" 0C.
ULTRAFAB WEATHER MIN.
" STRIPPING EA. SIDE TO GLASS
(Tve) o (SEE SCHEDULE
\@or @At 4 ON SHEET 13)
J[ &0 E \—® or (At 5]
.8 MIN. SEPARATION - Z2
i MIN. SEPARATION =0 TO GLASS | 8
T0 GLASS =i (SEE SCHEDULE | \® z \/\ 9
(SEE SCHEDULE ~ ON SHEET 13) i ‘;" A ﬂ W
ON SHEET 13 .5
) (D) or (& 1 L 32 I N Dot
ALTERNATE 3/16" ALUM ALTERNATE LEG ul '
POP RIVETS @ 5" O.C. o L LOCATION & ?;gkoﬁﬁgé%;ﬁ% i
ALTERNATE LEG AT REAR. TR G (SEE NOTE %) E
LOCATION Coalodgdy -~ " =
{SEE NOTE *) o 1 =
re ll T ; ALTERNATE 3/18" ALUM. ;
A k- ~] POP RVETS @ 5" 0.C. “
o f =1 s AT REAR.
24" CONT.; | === q - BZ
wOOD FLATEJ-—I-\_ : T = <= { E =3 X fx
REQ'D. I “ { T— = . 5= el
RE 3/16” ALUM. POP RVETS B l : G -
" @ 10" 0.C. BOTH SIDES & \_@ ~Z | o
) = AN T - @/ Rz 3/167 ALUM. POP RIVETS
. \ % pr l II i @ 10" 0.C. BOTH SIDES
a i & EQ. £0.
<X 276" MIN. WOOD ] .
g ~—EQ g / DECK REQURED 1~T_ B —
] 24" CONT. | 1/4"8 x 3/4" TEKS SCREW (NO FINISH ALLOWED)
1/478 x 3/4" TEKS SCREW " REQ,T[';: OR 1/4" x 3/4' BOLTS W/ NUTS
W/ 5/8" WASHER OR : & 5/8" WASHER @ 6" 0.C. — CONNECTION C8
1/4" x 3/4° BOLTS W/ NUTS & CONNECTION C4
5/8" WASHER @ 4~ 0.C. o
, le——* MIN. E.D. 2" MiN, ED—
CONNECTION C3 5 WALL FINISH

TRAPPED MOUNTING INSTALLATION

“\\“““ﬁ%”jfi _
\\\‘,‘EP\ A jl/’f’f;,, FLORIDA BUILDING CODE (High & Non High Velocity Hurricane Zone)
Ay W/

§$_. OQEN 6’5\ 5)"”,; © 2035 TILTECT INC. TITAN Il FOLDING IMPACT PROTECTIVE SYSTEM D:g‘f’;‘uf_‘ﬁ
§ =t % : l | 03/16/15
3 ﬁ@%%j*\: / IL E c o INC. X FOLDING SHUTTER CORP. DATE
3 -, 7 ﬁ?/_ PR E TILLIT TESTING & ENGINEERING COMPANY 7083 HEMSTREET PLACE

30" s = . ; WEST PALM BEACH, FL 33413 _
20 /5 Coe § [P g o vee argas, o, sies ALl A T 15-014
= B -~ e—mail: tilteco®aal.com www.foldingshutters.com DRAWING No

EB—-0006719
WALTER A. TILLIT Jr. P.E.

REY. DESCRIPTION BATE REY. Wa

FLORIDA Lic. # 44167

1 o 13080 o3N1aE 3

£

SHEET /7 OF 13

T




1/47 9 x 17 TEK

SCREW OR 1/48—20"x1™
S5.5. MS WOH NUT &
WASHER @ 4™ O.C.
——— 7]

ALTERNATE LEG &
ANCHOR LOGCATION

MAX.

MIN. SEPARATION

TC GLASS

{SEE SCHEDULE

ON SHEET 13) .

MAX. SPAN
(SEE SCHEDULE)

MAX.

437"

3.280"

R

»%
§/——vcmuscmu 7

©

o3

~

(SEE NOTE *)—\:\i
L [

EDGE OF

EDGE OF SLAB
IF APPLICABLE

27x6™ MIN. WOGD
DECK REQUIRED
(NO FINISH ALLOWED)

SLAB IF EDGE OF
APPLICABLE - SLAB I
APPLICABLE —
T SEE UMITATIONS FOR @ ON SHEET 2
—— VA/
‘-:7/MIN. E.D.— - MIN. E.D————————eed NOTE _FOR COMBINATION Of SECTIONS:
2°x6" MIN. WOOD :
DECK REQUIRED _ : 1- MOUNTING SECTIONS CAN BE COMBINED
(NO FINISH ALLOWED) IN ANY WAY TO SUIT ANY INSTALLATION.
FLOOR MOUNTING INSTALLATION S Rea,
SECTION 7AW (BOTTOM -
= . o A -——)- 1— FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO
BE HAVE A MiIN. SPECIFIC DENSITY OF (.46 OR EQUAL
(3) 5/18” 3 LAG £0 EO— - r 2— SEE SECTIONS 8W & 14W FOR MAX. A.S.D. DESIGN
7 - EQ : . ASD. o
A xi é MIN. E.D. PRESSURE RATING & SPANS u
2™) OF RAFTER/TRUSSES - )
@ / - — - g
. \;: = i iy
- 0 = ,
1/4 "x4" (5063—TB) FLAT— ot ol s | EXISTING 2X WOOD .
p/LATE w/(1 /4" x1) " TEK Z\\\ cT e = =" TRUSSES OR RAFTER 2°%4" MIN. WOOD ————
SCREWS @ 6" 0.0. IN < 2 = — AT 247 O.C. MAX. STUDS @ 168" 0.C.
BETWEEN TRUSSES OR ik 5007
1/8"x4" (BOB3—TE)FLAT \ \5\ = _ o S;[
PL"E%;"E{VS’Q Z.."é.cf"}: AN = s b 7 (2) 1/4° TAPCON OR 1/4'8 CREVE-FLEX
o EEN, TRUSSES \ — I : ANCHORS oR #14 NDS WOOD SCREWS OR 1/47%
ey = EDGE (If APPLICABLE) NDS LAG SCREWS AT MIDWIDTH OF EA. STUD W/ —— <]
2 1/2" Min. THREADED PENETRATION INTO WOOD
© O STuD
2) NYLON A /4" MAX. PLYWOOD EXISTING SOFFTT
ROLLERS . - -
L P F10x3* $.5. SMS. W/ 1/2° x3/4" LONG
0.855% (TY.), | ., NYLON BUSHINGS (Typ. TOP) AND * LONG
%% (Typ. BOTTOM), EXCEPT AT ROLLER HOUSING
#10 x 3" S5 SMS. W/ <= ({TP)

0.373" LONG NYLON
BUSHING W/ A 0.150"
LONG TOP SECTION 0.500"
0.0D. AND 0.2457 id. AND

0.223" LONG BOTIOM — |
SECTION 0.320" O.D. AND
0.245" id.

(TYP.)

/

MIN. SEPARATION

TO GLASS

(SEE SCHEDULE

ON SHEET 13)

£
E
%
E
L
&

\'CONT.

0.163"%0.270"
x0.030"
ULTRAFAS
WEATHER
STRIPPING EA.
SIDE {TYP.)

1
|
j

or A1t

v

HEADER TO TRUSS MOUNTING INSTALLATION

SECTION 8W (TOP)

[MAX. A.S.D. DESIGN PRESSURE RATING +60.0, —60.0 PSF]|

INSTALLATIONS DETAILS

INTO WOOD

g,

7

MIN. SEPARATION E
TO GLASS
(SEE SCHEDULE
ON SHEET 13)

OPTIONAL RAIN GUARD
{NON—STRUCTURAL)

or (A1

MAX. SPAN
(SEE SCHEDULE)

MAX,

437"

ALTERNATE 3/16” ALUM.
POP RIVETS @ 5" G.C.
AT REAR.

b 2" MIN. ED———

2”7 M E.D.

ALT TRACK ADAPTER MOUNTING INSTALLATION

3/16” ALUM. POR RIVETS
@ 10" 0.C. BOTH SIDES

e —— EDGE OF SLAB

IF APPLICABLE

CONNECTION CB

SECTION _7BW (BOTTOM)

MIN. SEPARATION
TO GLASS
{SEE SCHEDULE
ON SHEET 13)

/WML FINISH

1” x 4" x 1/8"

6063—T6 CONT.
ALLIMINUM TUBE

Il

uuuuu

;
I

t'o
[
3!

2.000

625"

- ———]

or (AT

10°-0" MAX.
SPAN

MAX.

437"

———

|

N

L i
MOUNT TO\J\WOOD

STUD

e ———

00" b

x
é \W;/fb x 3/4° TEK
@EQ;L—EQ‘—-—

1/4" 8 x 3/4" TEK
SCREW @ 6" 0.C.

S MOUNTING INSTALLATION

SCREW OR 1/4"-20 x 3/4"
S.S. BOLTS W/ NUTS &
WASHER @ 6" 0O.C.

SECTION 14W (BOTTOM)

[MAX. AS.D. DESIGN PRESSURE RATING= +60.0, —60.0 PSF|

FLORIDA BUILDING CODE (High & Non High Velacity Hurricane Zone)

SCALE : NT.S. A Ty L,
‘:‘ \’:‘_.-;o..._‘l. (/.r,l
ST \0ENSe P %
Y7
E- CIATE S E
Z ’2}' %AT&’ E}F . f“%‘é‘
‘ 2 1 E oy
e, B donys

© 2015 TILTECO INC.

/TILIECOme \

THLT TESTING & ENGINEERING COMPANY
6355 NW. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phone : {305)871-1530 . Fox : (305)871-1531
e—mail: tilteco@aol.com
EB—0006719
WALTER A. TILLIT Jr. P.E.

FLORIDA lic. # 44167

TITAN || FOLDING IMPACT PROTECTIVE SYSTEM ng‘j’/”uf
03/10/15
FOLDING SHUTTER CORP. DATE
Tt RAL BEACE, o 33413
Wi ,
PH: 1800—643--6371 1_5_014
www.foldingshutters.com DRAWING No
REY. Ho DESCREFTION DATE REV. Mo DESGRIPFTION BATE
1 o §3-080 as/10/16 3 SHEET 12 OF 13
2 4




I I

AND CORRESPONDING MAXIMU
SLATS SPANS SCHEDULE.

CONNECTION CAPACITY SCHEDULE
(MAX. ALLOWABLE REACTION TOP & BOTTOM LB/FT)
FOR MIN. EDGE DISTANCES SHOWN ON ANCHOR SCHEDULE

Cc

: CAPACI

(MAX. ALLOWABLE REACTION TOF & BOTTOM LB/FT)

FOR

CONCRETE & CONCRETE BLOCK

FOR SHORTER E.D. (2" FOR A, 2 1/2" FOR B & 2 1/4" FOR C ANCHORS)

THAN MIN. E.D. SHOWN ON ANCHOR SCHEDULE
o MR SLATS SPANS A WA ALOWASLE CONCRETE CONCRETE BLOCK STEEL WOQ0D \
vl == e ‘??;:\lé é\ggglgg ANCHOR TYPE ANCHOR TYPE A"gﬁgg“ | ANCHOR CONNECTION| ANCHOR CONGRETE CONCRETE BLOCK
o) ) TYPE SPACING ANCHOR TYPE ANCHOR TYPE
30 psf | 14407 144" | 180 Ib/ft A B ¢ A ¢ E ACF X 5 c A c
60.0" 60" | 88 b/t o 9 425 LB/FT - 388 LB/FT | 157 LB/FT | 134 LB/FT |256 LB/FT| 397 LB/FT TR ~ Ry 2 TRy
35 psf 100.(3" 100: 146 b/ft 6 473 LB/FT - 418 LB/FT | 236 LB/FT | 202 LB/FT |383 LB/FT| 432 tB/FT C1 : z 451 LB/FT - 3 / - 4 L8/
Taa | 1aa” |7 210 b/ 5 1387 1B/FT - 334 1B/FT | 166 LB/FT | 142 LB/FT |271 UB/FT| 347 LB/FT St LB;{_,T - g’;i tg?g — ‘122; ig;;
40 oot 1%%%,, 1%%,, ‘03 :z/: c2 9 456 LB/FT = 362 LG/FT | 250 LB/FT | 190 LB/FT |318 LB/FT| 380 LB/FT . : o7 LB/FT — e R
Sl L 12‘20 Ebﬁﬂ ‘6 525 B/FT - 275 UB/FT| 312 LB/FT | 285 LB/FT |353 LB/FT| 443 LB/FT 2 2 ;':); tg?g = — LB§FT = e Lsﬁﬂ_
o I BT 9 390 LB/FT = 309 LB/FT | 157 LB/FT | 154 LB/FT {257 LB/FT| 329 LB/FT . SR — 305 TB/FT — T34 1B/
80.0" 80.07 154 |b/ft C3 & 496 LB/FF - 375 LB/FT 236 LB/FT 202 LB/FT 298 LB/FT 405 L.B/FF c3 6 469 LB/FT _ 375 LB/FF — 202 LB/FT
46 pst [ 570" | 97.00 | 187 Ib/%t 3 | 813 LB/FT - 570 LB/FT | 326 LB/FT | 304 LB/FT |418 LB/FT| 631 LB/FT = 572 LB/FT - 304 LB/
115.07 | 11507 } 221 Ib/ft 9 466 LB/FT - 370 LB/FT | 157 LB/FT | 134 LB/FT |256 LB/FT| 393 LB/FT 3 760 LB/ 370 LB/FT T34 LB/,_-T
14" | 144" | 276 Io/ft c4 5 1592 (B/FT - 248 LB/FT | 236 1B/FT | 202 LB/FT |357 LB/FI| 483 LB/FT| 9 | 445 LB/R - s LBjFI’ - = B/ a
600" | 600" | 125 lo/ft 3 {972 B/FT - 682 LB/FT | 389 LB/FT | 364 LB/FT |500 LB/FT| 753 LB/FT 4 6 | 561 LB/FT - = LB/
890" | 89.0° 1 187 /Mt 3 | 281 LB/FT Z 224 LB/FT | 81 LB/FT | 83 LB/FT |143 LB/FT| 103 LB/FT 5 912 LB/FT - 682 LB/FT - 364 LB/FT
50 psf | 100.0° | 100.0" |. 208 Ib/ft 9 226 LB/FT - 224 LB/FT - 83 LB/FT
Ve 0™ 1 300 B/t 3 843 LB/FT - 670 LB/FT | 243 LB/FT | 250 LB/FT {432 LB/FT| 311 LB/FT /T B s50 1B /AT - 256 B/
60.0: eo.o: 138 Ib/ft 9 273 LB/FT | 325 LB/FT | 215 LB/FT - - 138 LB/FT| 102 LB/FT g 557 LB?FF 35T B/FT [ 215 L6/FT -
81-0” g1.0 _ 187_'b/ft CB 6 410 LB/FT | 487 LB/FT | 323 LB/FT - - 207 LB/FT| 153 LB/FT 5 /e 325 LB /FT
55 psf 100.07 128-3” 229 :‘;/: 3 1’822 LB/FT | 975 LB/FT | 648 LB/FT - - 414 LB/FT| 307 LB/FT cé 6 | 332 LB/FT| 378 LB/ - / = - -
2007 [ 12007 | 275 lb;ﬂ % 1269 LB/FT | 301 LB/FT | 183 LB/FT - T [114 LB/FT| 153 LB/FT Z ggz t:jg Zgg t‘;ﬁg 182 tgﬁrr - -
555 T 600" | 150 o/t c7 3 358 LB/FT | 402 LB/FT | 244 LB/FT| - - 152 LB/FT| 204 LB/FT c7 . - -
30.0° | 80.0° | 200 Ib/ft 2 - — - - - - 305 LB/FT 3 310 _LB/FT | 315 LB/FT | 244 LB/FT
60 pst | 100.0" 100.0" | 250 b/t 12 491 LB/FT | 596 LB/FT | 409 LB/FT - - 265 LB/FT}{ 168 LB/FT ca 12 322 LB/?E_ 460 ::g/;]: g?i t:;ﬁ — —
11507 | 1150" | 288 ib/ft cs 8 736 LB/FT | 894 LB/FT | 614 LB/FT - - 397 LB/FT} 252 LB/FT 2 377 tgﬁw gg} LB?,_T 819 LB/FT - -
131 128 346 Ib/it 6 982 LB/FT |1194 LB/fT{ 819 LB/FT - - 530 LB/FT| 336 LB/FT :
59.0" 53.0" 160 Ib/f’c -
65 psf 92.0" 92.0" 249 b/t :
100.0° | 100.07 | 271 ib/ft MIN. SEPARATION TO GLASS SCHEDULE ANCHORS SCHEDULE @ SEE GENERAL NOTE C.2 'ON SHEET 1
126" 123" 360 fh/ft * ' ' '
60.0° | 60.0° | 175 bb/f ANCHORS ANCHORS MIN. E.D. MIN. SPACING
70 pst | 100.0° | 100.0° | 292 Ib/ft SLAT HicH vELocrTy | NON HIGH VELOCITY TYPE DESCRIPTION CONC TCBLOCK WOOD | STEEL [CONC. [C.BLOCK] WOOD | STEEL
1217 | 118" | 374 b/t SPAN  |HURRICANE ZONE|_HURRICANE ZONE A "
55.0° | 59.0° | 187 b/ ZONE 1,2,3 | 7ONE 4 A 1/4 Qg?gCON I_:WC/HNAC?C’A(';SED 350"| 250" | @ | n/a 4007} 4007 | N/A | N/A
75 psf 100.0” 100.0" | 313 Ib/tt 5'_10" . ) 5/ THREADFORM 7 0
17 114" | 387 Ib/ft 2 1/2" 1 5 . " . .y :
50 oo T T 200 /8 - AS LESS B 1/4" ¢ x 3/4" Soub SET 3.50" 3_50"‘ N/A | N/Aa ] 3007 3.007 | N/A | N/A
90 pst | 107 104" | 424 Ib/st o . i
700 pst | 101 99" 447 Ib/ft TESB,l%» 2 5/8" + 1 2 3/4°+ C 1/4” ¢ CRETE—FLEX 300! 300" | @ | N/Af3.007| 3.007 | N/A | N/A
110 psf g4” 80" 468 Ib/ft ’ : -
120 pst | 87" 82° | 484 Ib/ft - . . E 1/4" ¢ TW—BUILDEX n/a | oNza | onza 1 1oo7] N/a | N/a | NgA | 2,007
130 psf | 80" 76" | 483 ib/ft TC>381 2’3#0» 3 1/2° 1 3 5/8 TEK SCREWS / / / / / /
140 pst | 74 707 | 484 Ib/ft #14 NDS WOOD SCREWS OR 0 2.00"
150 pef} 697 667 1 483 b/ft A AS DEFINED BY ASTM E—1996 STANDARD i 1/4” NDS LAG SCREWS il B el Bl LA v
[ i § g - _
AGO Pz 65 62 483 1b/ft 4 EXCEPT THAT 3 5/8 S S USED FLORIDA BUILDING CODE (High & Non High Velocity Hurricane Zone)
NOTES: E T ALL BE US
L+: MAXIMUM ALLOWABLE PRODUCT SPAN FOR A FOR MOUNTINGS AS PER SECTIONS 3, © 2015 TLTECO (G, TITAN Il FOLDING IMPACT PROTECTIVE SYSTEM| SR ET.
GIVEN POSTIVE AS.) DESIGN PRESSURE RATING. 4 4A & TA.
L—: MAX. ALEOWABLE PRODUCT SPAN FOR A ' 03/10/15
g%SGNEGATIVE AS.D, DESIGN PRESSURE "_ : c o INC FOLDING SHUTTER CORP. DATE
- . . 7089 HEMSTREEYT PLACE
FINAL MAXIMUM ALLOWABLE PRODUCT SPAN IS ._ &%TWT;&“ gltGStG:. :;EDEG\L':GE:IF lsP:EDEESO ngr::ﬁ WEST PALH BEAL'::i:3 %353413 15014
EQUAL TO THE MINIMUM DETERMINED PRODUCT y ™ et & O ecoaol com wm'f;igga%;futt;s AN DRAWING No
SPAN BETWEEN “L+" AND "L-" >, . L B ’ : -
ﬁ%%‘%@;g !ﬁ '59 %\ E." @23 - w&(r)g?;mz%ﬁf?% PE AT T A BESCRIPTION ot ceer 13 oF
o [ 1] E | ic. 1 oin 13080 15 3 Hi 1 13
ﬁ% . ;ﬁ?&-éi @M b 2 4

#
&"";'ﬂiﬁm_““ '




